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B PITROD 5, B PITR D5, 1,126.000
1 B PITROD 5, VLW EB 3.103
2 B PITROD 5, HE KLx 3.000
3 B PITROD 5, MR LITE 4.000
4 B PITROD 5, Dby fli— 2.064
5 B PITROD 5, JIH #EF 19.000
6 B PITROD 5, b SAHRUA 0.000
7 I IR D, & 7259 0.000
8 FITRD, B rkll 0.000
9 FrPITROD 5, Oz 0.000
10 B PITROD 5, B W&k 0.000
11 N VN LS SRUE 52 1.000
12 FATRDE, RE HEZ 237.929
13 N VN LS A »fx 84.000
14 FrPITROD 5, A 25U 2.130
15 I PITROD 5, L Hbiehd 2.000

REW REW 2,646.000
1 B35 HNEH <AHZ 144.000
2 RFE® WRLL E 1.000
3 REW i — 23.793
4 B35 Ak ek 214.000
5 REW WEEE 228.000
6 B35 KE Tk 58.000
7 [ESEETH BF TAED 1.000
8 B35 MO JEE 3.000
9 B35 A AT 84.000
10 RER S SN i) 29.935
11 [ESE T & [P 1.000
12 [ESE T IEHD WL 95.000
13 REW 72BNy BAN 0.000
14 V=g VIR =T A 13.000
15 RFE®R LEAE RN 8.000
16 RFE®R EE Ll 43.000
17 RER ERNUES 7.000
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18 REWR e i 9.000
19 REW FH =HBY 127.000
20 BF5 HH ~— 7.000

B R H B R 46.000
1 B R H AR AT 7.000
2 B R H Wil HEDH 1.000
3 B R H FEES = 0.000
4 B R Hy AR <A 0.000
5 B R Hy HE b 0.000
6 B R AT ONAAYS) 0.000
7 B R Hy = fir 1.000
8 T 5 R BTJI CwAl 2.000
9 B R Hy g R=H 6.000

R I HERER 450.000
1 R I Xifi AEiR 8.000
2 HERER (1T 14, 87.000
3 R I B bb& 0.000
4 RN K ot 2.000

ATED, AT D5, 202.000
1 AIEDH, K% 7272 1.000
2 A& D5 R KLos 4.000
3 AIEDH, ES P N 0.000
4 ATED, Wi AL 2.000
5 AIED, "= 3.000
6 AIED, AR HF 6.000

HED D, HEDDE, 89.550
1 HEVDR A <izz 4.000
2 HEVD WH EE 13.652
3 FrEV D J| HFIN Dx>720> 4,000

Bl R BRI 7,035.000
1 B HRIEW Rt FEdHE 42.000
2 B HRIEW bEbE LroHT 8.000
3 Bl R HLeH 157 118.000
4 B HRIEW HH HEY 64.276
5 B HRIEW FH FEOA 252.000
6 BB ERER g o7 5.000
7 B HRIEW ZE o 132.000
8 B HRIER KIL RLT0O5 3.000
9 B HRIEW KHE 5z 3.000
10 BRI &7 EALA) 5.000
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11 B HRIER ekt ok 41.000
12 B HRIER ARFf XL 19.058
13 H R b VWHC 13.764
14 B HRIEW ex R PR 7.000
15 B HRIEW TrT 3bx 5.000
16 BB ERER g DL bHE 70.629
17 BB ERER e FS0 490.370
18 H R LB W 18.070
19 H R Zo1F Bk 7.000
20 Bl R BE L% 2.000
21 Bl R S FX 279.000
22 H R A BT 39.000
23 BRI PAER Fhl 179.000
24 H B RE Ful Fnth 14.000
25 BRI BAR Lyl 83.000
26 H B R E WE ELds 258.347
27 H R E5% K bbb 23.000
28 BRI PINS B 10.000
29 H R E5 Dllp~ Ef 30.000

H ASLRE 3 H ASLRE 3 1,356.000
1 H ASLRE 3 IWF kL 9.000
2 H AL RE ST, AN T 4,000
3 H ASLRE 3 W BT 1.000
4 H ASLRE 3 HE kL 2.000
5 H ASLRE 3 Z #5~n 45.000
6 H ASLRE 3 b3 BHFEF 2.000
7 H AL RE ST, MRS/ 1.000
8 HASRRES, FR Fil 0.000
9 H ASLRE 3 Tk OApx 0.000
10 B AR 5 K A2 0.000
11 H A SRPES, AKE FALT 0.000
12 H ASLRE 3 T ¥ 0.000
13 A ARSLPEM =i BAY 0.000
14 H ASLRE 3 T HE 2.000
15 H ASLRE 3 =Tb7 SR 0.000
16 H ASLRE 3 ok ER 0.000
17 H A SRPES, A s 5.326

NP, N, 1,359.000
1 INBAE iy pkalif 11.000
2 N TR ENEL 8.000
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3 INBAE A PIVBAS 9.000
4 NGRS A 72z 19.173
5 INBSE A AL 23.176
6 INBSE Moo FiE 2,308.000
7 NI, BE OTE 0.000
8 INBAE E Fh 0.000
9 INBAE JIE 1EHE 12.000
10 INBAE W i 0.000
11 INBAE HEAK EE 1.000
12 INBSE ST NI 2.000
13 INBAE SUSEIRE 0.000
14 B HE 0.000
15 INBSE B JRBY 0.000
16 B TUEEH HEfe 0.000
17 B Bhe 759 0.000

BRIV =L R | RO TV — 2 X/ 76.000
1 BEDOH TV =2 XD | FXH &k 1.000
2 FRDW TV = A% | BB/ ST 0.000
3 RO TV =0 A%/ |HA Fd 0.000
4 FEDOG TV — Xy | KB 2<% 1.000
5 O T)— Ry | LESE B 0.000
6 RO TV = A% | RES dIHE 3.176
7 RO TV—2 X% | B T 0.000
8 BRIV —L A | KH E2Z 0.000
9 ORI V=V AV vy | ZF T 53.000

A AHMERT D2 H AHMERT D= 1,839.000
1 H AHMERT D2 il #&F 70.000
2 H AHMERT D2 TeAV HE 11.000
3 H AHMERT D2 EH £ 13.000
4 H AHMERT D2 TUh=F R 105.000
5 H AHMERT D2 FE TR 0.000
6 A AHMERT D2 FH ILbx 8.275
7 A AHMERT D2 £ THOS 1.000
8 H AHET D2 AR EE 6.000
9 H AHMERT D2 AR SRR 0.000
10 H AHMERT D2 XD AR 3.000
1 A AT D2 EIE OSDZ 2.000
12 H AHMERT D2 BT EKER 2.000
13 A AHMERT D2 Frld Ay 1.000
14 A AHMERT D2 Jilg OAL 5.192
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15 HAHE T D= ¥~ 5 0.000

16 H AHERT D= UIECIR L VN 0.000

17 H AHERT D= B FoF 6.000

18 H AHERT D= L AR 0.000

19 H AHERT D= mH EXZ 0.000

20 H A D2 T F— 0.000

21 H AHERT D= TH OA»T 1.000

22 H AHE T D= B XLos 0.000

23 H AHERT D= I IEK 3.000

24 H AHE T D= [FCONTANE NN /R 0.000

25 HAMER D= s sk 4.000

26 H AHERT D= NN 0.000

27 H AHE T D= AR ZH0h 1.000

28 H AHERT D= Bl ey 0.000

29 H AHE T D= KA FAWS 3.000

30 H AHE T D= g 720 4.000

EZEESTN EZEESTN 100.000

1 R EB R E 1.000

2 EZEESTN N~ 7.000

3 EZEESTN WwEh —H 1.000
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